
Quadratics - Unit Test A  
 
Identify the choice that best answers the question. 
 
1. 

 
2. 

 
3.  

 
4.  

 
 
5. 

 
 
 

7.   Which statement is correct for the function graphed below?     

 

 

 

 

 

 

 

 

 

 

 

 (A)  There is a maximum value of 3.        (B)  There is a maximum value of 2. 

 (C)  There is a minimum value of 3.        (D) There is a minimum value of 2. 

 

8.  Determine the equation of the axis of symmetry for the parabola that passes through  

     the points ( – 6 , 0 ) and ( 4 , 0 ).     (A)    x = 2    (B)    x = – 2    (C)    x = 1    (D)    x = –1 

 

9.  Which represents the quadratic function y = –2(x + 1)(x – 3) in standard form?   

 

 (A)    y = –2x
2
 + 6   (B)    y = –2x

2
 + 4x – 6  

 (C)    y = –2x
2
 – 4x – 6   (D)    y = –2x

2
 + 4x + 6  

 

10.  Which quadratic function opens downwards and has a vertex ( 0 , – 3 )?
  

 

 

(A) 
   

y = ( x + 3 )
2

 
     (B)    y = –( x + 3 )

2

 
     (C)    y = x

2
 – 3

      
(D)    y =  –x

2
 – 3

 
         

 

11.  What is the equation of the axis of symmetry for the function y = –4( x – 2 )
2
 + 3?

 
 

 

 (A)    x = – 2        (B)    x = 2        (C)    x = 8        (D)    x = – 8  

 

12.  Which graph represents the function y = ( x + 4 )
2
 + 3?

      

 
 

(A)      (B)    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(C)      (D) 

    (D) 
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6.  

 
7. 
The path of a marshmallow launched from a slingshot can be described by the equation  

f(x) = –x
2
 + 4x + 5, where f(x) is the height of the marshmallow and x is the number of seconds that 

have passed since the slingshot’s band was released. Which of the following points shows the 

maximum height of the marshmallow? 

 a. (0, 5)  b. (2, 9) c. (0, –1)  d. (4, 5) 

 
8.  
What is the average rate of change of the function f(x) = 6x

2
+ 12x – 4 between x = –1 and x = 1? 

 a. 12   b. 24   c. 4   d. –12 

 
9. 

 



10.  

 
11. 

 
12. 

 
13. 

 
 
14. 
 

 
 
15.  

 
 



 
Constructed Response. Show all work in space provided. 
 
16.  An object is launched and follows the path expressed by the function h(t) = -16t2 + 16t + 32 
where h is the height at t seconds.  
 
A. Find the height, in feet, of the object at 1 second after it is launched. Explain how you 
determined your answer.  
 
 
 
B. How long will it take before the object hits the ground? 
 
17. 

 


